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14 14 01 55 PETIT MONTROUGE 1314 575 575 12 3 560 33 65
14 14 02 55 PETIT MONTROUGE 1468 613 614 6 7 601 20 56
14 14 03 55 PETIT MONTROUGE 1560 748 748 3 2 743 54 72
14 14 04 55 PETIT MONTROUGE 1495 597 597 6 4 587 35
14 14 05 55 PETIT MONTROUGE 1376 612 612 3 2 607 34
14 14 06 55 PETIT MONTROUGE 1450 699 699 8 2 689 41
14 14 07 55 PETIT MONTROUGE 1433 628 628 14 5 609 38
14 14 08 55 PETIT MONTROUGE 1452 664 664 6 2 656 37
14 14 09 55 PETIT MONTROUGE 1508 731 731 22 6 703 47
14 14 10 55 PETIT MONTROUGE 1428 565 565 7 5 553 13
14 14 11 55 PETIT MONTROUGE 1396 637 637 6 3 628 28
14 14 12 55 PETIT MONTROUGE 1557 689 689 10 4 675 21
14 14 13 55 PETIT MONTROUGE 1520 679 679 10 7 662 34
14 14 14 56 PLAISANCE 1553 737 737 6 4 727 45
14 14 15 56 PLAISANCE 1567 647 647 14 5 628 26
14 14 16 56 PLAISANCE 1537 594 594 6 4 584 29
14 14 17 56 PLAISANCE 1463 677 677 5 9 663 34
14 14 18 56 PLAISANCE 1587 619 619 16 10 593 21
14 14 19 56 PLAISANCE 1647 557 557 9 6 542 34
14 14 20 56 PLAISANCE 1410 499 499 14 6 479 13
14 14 21 56 PLAISANCE 1416 438 438 6 13 419 7
14 14 22 56 PLAISANCE 1536 577 577 8 8 561 26
14 14 23 56 PLAISANCE 1540 625 625 12 9 604 37
14 14 24 56 PLAISANCE 1580 664 664 5 2 657 43
14 14 25 56 PLAISANCE 1511 698 698 7 2 689 29
14 14 26 53 MONTPARNASSE 1277 551 551 8 1 542 24
14 14 27 53 MONTPARNASSE 1073 477 477 1 3 473 35
14 14 28 53 MONTPARNASSE 1530 705 705 7 8 690 41
14 14 29 53 MONTPARNASSE 1605 692 692 16 4 672 53
14 14 30 53 MONTPARNASSE 1409 586 586 9 2 575 36
14 14 31 53 MONTPARNASSE 1375 672 672 12 2 658 51
14 14 32 53 MONTPARNASSE 1377 604 604 6 7 591 45
14 14 33 53 MONTPARNASSE 1519 656 656 10 3 643 40 80
14 14 34 54 PARC MONTSOURIS 1358 608 608 13 4 591 37 66
14 14 35 54 PARC MONTSOURIS 1455 661 660 4 2 654 36 93
14 14 36 54 PARC MONTSOURIS 1325 434 434 3 5 426 16 39
14 14 37 54 PARC MONTSOURIS 1475 577 577 7 1 569 21 56
14 14 38 54 PARC MONTSOURIS 1303 569 569 14 9 546 28 73
14 14 39 54 PARC MONTSOURIS 1431 612 612 5 6 601 31 51
14 14 40 54 PARC MONTSOURIS 1557 657 657 8 2 647 29 69
14 14 41 54 PARC MONTSOURIS 1594 648 648 6 2 640 37 81
14 14 42 55 PETIT MONTROUGE 1776 674 674 7 3 664 33 53
14 14 43 55 PETIT MONTROUGE 1466 634 633 7 1 625 34 54
14 14 44 55 PETIT MONTROUGE 1509 562 562 9 4 549 31 47
14 14 45 55 PETIT MONTROUGE 1589 454 454 12 8 434 19 26
14 14 46 56 PLAISANCE 1340 596 596 12 3 581 37 54
14 14 47 56 PLAISANCE 1413 492 492 3 1 488 21 49
14 14 48 56 PLAISANCE 1501 522 522 11 6 505 37 55
14 14 49 56 PLAISANCE 1547 650 650 7 8 635 39 63
14 14 50 56 PLAISANCE 1480 634 634 6 5 623 34 54
14 14 51 56 PLAISANCE 1404 514 514 7 8 499 20 52
14 14 52 56 PLAISANCE 1512 462 462 8 6 448 15 31
14 14 53 56 PLAISANCE 1475 466 466 7 9 450 17 52
14 14 54 56 PLAISANCE 1544 606 606 7 10 589 21 57
14 14 55 56 PLAISANCE 1672 638 638 10 7 621 27 38
14 14 56 56 PLAISANCE 1453 422 422 2 4 416 12 40
14 14 57 56 |PLAISANCE 1546 396 396 10 16 370 2 37
TOTAL 84 194 34200 | 34199 475 290 33434 1738 3542
% 100,00%] 40,62% | 40,62% | 1,39% | 0,85% | 97,76% | 5,08% | 5,47% | 42,98% | 40,96% | 10,59%




